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P1 The double inclined plane supports two blocks A and B, each having a weight of 100 N
(10kg). If the coefficient of kinetic friction between the blocks and the plane is p=0.1,
1.1 (4 points) a\ﬁmswﬁuammgﬂuamﬁﬁmamsmﬁauﬁﬂaa A uay B uay

annseaBinevaRaTaINTINAdaun 16

1.2 (11 points) determine the acceleration of each block.
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P2 Beginning from rest when 8 = 20°, a 35 kg child slides with negligible friction down the
sliding board which is in the shape of a 2.5 m circular arc(&lasifiznsafiugruntianas

wnau). Determine the tangential acceleration and speed of the child, and the normal force

exerted on her when 6 = 30° and when 8 = 90°

(v 2.1 a, vuse N 6 = 30° 22 a,vuryN#0 =90 )

3/8



fla-ana SUR

P3 The ball P (mass 2 kg) is guided along the vertical circufar path. (gnuaa P farnvatuufn
Guuldveionnan gnanalvimdaurilaouau OA Taaiiuau OA ©1 6 = 0.4 rad/s, 6 =0.8

rad/s?, uay r. = 0.4 m). Determine force of the arm OA on the ball when 0 = 45°,
(a0vnusanInuau OA Answvindu ball P ufla 6 = 45°)
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P4 The 2 kg ball of negligibie size is fired from point A with an initial velocity of 10 m/s up the

smooth inclined plane. Determine the distance from point C to where it hits the horizontal
surface at D (#seay d). Also, what is its velocity when it strikes the surface? (wagun
anuhasgnuasisiannasfl D)

[Hints: usndeLiluen]
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P5 The 2 kg collar is released from rest at A and slides down the inclined fixed rod in the
vertical plane. The coefficient of kinetic friction is 0.4. Calculate
5.1 the velocity v of the collar as it strikes the spring (wiariaasaandaudiarausifia)
5.2 the maximum deflection x of the spring (al3savdniinldgalaszardnyiils)
[14 work & energy method]
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